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# -*- coding: UTF-8 -*-
from rabboni import *
import time, sys
try:
rabbo = Rabboni(mode="BLE") #5=& & —{E¥1{4
except Exception as e:
print(e)
print("AJFE/RIZHE Rabboni FEE{EL Rabboni ;ZEE T ")
sys.exit( )
rabbo.scan() #H A EE ZF Device
rabbo.print_device() # %I|H A EEZE Device
rabbo.connect("D1:FA:FO:F2:12:29")#{{Id MAC 3#ij3%
rabbo.discover_characteristics()#fmHa A IR TS E
rabbo.print_char()#%|HPTEIRES mIHSE
# print (rabbo.characteristics)
# print (rabbo.Status)
rabbo.read_data()#zEHUE Rl 5

try:
while True:#—EFTENER EE4EHIER
rabbo.print_data()#print Z}
if rabbo.Cnt == 100:
rabbo.rst_count()
except Keyboardinterrupt:#4& HHAZ =
print('Shut done!’)
print (rabbo.Acex_list)#E[]H £1)45 AR SHF Y PTA Acex {H
rabbo.stop()#{= - dongle
rabbo.write_csv(data = rabbo.Accx_list,file_name ="AccX")#/EF Acex B H csv £5
rabbo.plot_pic(data = rabbo.Accx_list,file_name = "AccX",show = True)#/ Accx = H[EZE
GRS
finally:
rabbo.stop()
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Rabboni.Accz N Accz 1Y/H float
Rabboni.Gyrx = T Gyrx HY{E float
Rabboni.Gyry BN Gyry IY{E float
Rabboni.Gyrz = 1 Gyrz iV{E float
Rabboni.Cnt = 1 Cnt FY(E float
Rabboni.Accx_list LWOFEHEE H R4S | list
TR Acex
Rabboni.Accy_list LWOFEHIEE H R4S | list
HHY Accy
Rabboni.Accz_list PR H R4S | list
Y Accz
Rabboni.Gyrx_list LWOFEHEE H R4S | list
Y Gyrx
Rabboni.Gyry_list LOBREHPE R EH A4S | list
HHY Gyry
Rabboni.Gyrz_list alriEPE R H A4S | list
HAY Gyrz
Rabboni.Cnt_list aoeriEPE R H A4S | list
HHY Cnt
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from rabboni import *
import sys, time

try:
rabbo = Rabboni(mode = "USB") #45-5 &—{E¥(4
rabbo.connect() #i#4%5 [ rabboni > 4 $E FE&ruiss
except Exception as e:
print(e)
print("TJEEVRVZHE Rabboni F§ USB ZEFZEF !")
sys.exit( )

print ("Status:",rabbo.Status)
try:
rabbo.read_data()
while True:#—EFTHIE R HEGERIEZ
rabbo.print_data()#print 5k}
print (rabbo.data_num)
if rabbo.Cnt > 10:
rabbo.rst_count() #8'& count & delay — |
if rabbo.data_num>100:

rabbo.stop()#{= (- E/E
break

except Keyboardinterrupt:#4& A2
print('Shut done!")
# print (rabbo.Accx_list)#E[1 H 2|45 RAZ = CHFAY BT A Acex B
rabbo.stop()#5 [F7E/E
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Rabboni.Hex_data ‘&2 | sensor data HY | string
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Rabboni.Accx ‘=T Acex HYE float
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Rabboni.Gyrz = 1 Gyrz iVE float
Rabboni.Cnt = T Cnt HY(E float
Rabboni.Accx_list LWOFEHER H A4S | list
TR Accx
Rabboni.Accy_list LWOFEHIEE H R4S | list
HHY Accy
Rabboni.Accz_list LWOFEHEE H R4S | list
Y Accz
Rabboni.Gyrx_list LWOFRHEE H R4S | list
HHY Gyrx
Rabboni.Gyry_list aofiEPE R HAAE | list
RHY Gyry
Rabboni.Gyrz_list aofiEPE R HAAE | list
HAY Gyrz
Rabboni.Cnt_list alsriEPE R H A4S | list
HHY Cnt
Rabboni.data_num At A list #8345 4% | int
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